GRASSO = AN01650
QUANTITA" = KG 0.100

DADO M8 ZINC. UNI 5587 2 AD11227 e
RONDELLA PER M8 ZINC. UNI 6592 | 2 AV1214Z —
TERMINALE A BUSSOLA 10 AE03740 —
VITE BRUG. M8x120 ZINC. UNI 5931 2 AV1499Z —
VITE AUTOFIL. #3.9x9.5 ST 6954 ZINC| 2 AV1438Z —
LUCCIOLA 1 AE02820 7349X
COFANO 1 AX91840 7348X
PIASTRINA FISSAGGIO LAMPADINA 1 AL9139G 7356X
PORTALAMPADINA CON DADO 1 AE03190 —
LAMPADINA ELETTRICA 40 W 1 AE02810 —
CAVETTO G/V 1 AF01670 —
GUAINA .3mt} AF092060 —
VITE 4.2x16 TC INOX 1 AV2531G —
VITE AUTOFIL. #3.9x19 ST 6954 ZINC.| 3 AV1437Z —
COPERCHIETTO LATO SBLOCCO 1 AX92060 7350X
LEVA SBLOCCO 1 AL5155G 7441X
CUSCINETTO 6005—2RS 2 AC1157K e
MOLLA 1 AM1223B 6021X
CURSORE 1 AB1117Z 8315X
GUARNIZIONE OR 006 1 AGG1410 —
CUSCINETTO 6002—2RS 3 AC1153K —
CUSCINETTO 608—2RS 1 AC1167K —
INGRANAGGIO 1 AR1099| 8307X
RUOTA DENTATABRONZO 1 AR71900 8295X
ALBERO SBLOCCO 1 AA1100G 8313X
CHIAVE PLAST. mm30 PER SBLOCCO| 1 AV11430 6877X
RUOTA DENTATA FOLLE 1 AR1098G 8310X
CHIAVETTA MEKA BL 1 AC1128G 8197X
VITE BRUGOLA M6x16 UNI 5931 ZINC] 3 AV1462Z —
CUSCINETTO 6003—2RS 1 AC1154K —
SEEGER E 17 UNI 7435 ZINC. 1 AM1147Z —
ROTORE 1 AZ01500 8296X
SEEGER E 25 UNI 7435 ZINC. 2 AM1151Z —
MORSETTIERA 2 AE03050 —
CONDENSATORE 1 AEO1610 —
COPERCHIO CARCASSA 1 AX52640 7386X
ALBERO SCANALATO 1 AA1099I 8308X
SEEGER E.15 UNI 7435 1 AM2178G —
VITE SBLOCCO 1 AV1506Z 7374X
CARCASSA 1 AX53240 7458X
GRANO M5x5 UNI 5923 1 AV1125B —
STATORE 1 AY01360 8348X
TIRANTE M5 3 AV1303Z 7478X
RONDELLA PER M5 UNI 6592 ZINC. 3 AV1207Z —
FASCETTA NERA 2 AE03890 —
TESTATA MOTORE 1 AX53140 7360X
DISCHETTO PORTA CAMME 1 AW5151G 7347X
FINECORSA 2 AE03990
CAMMA MOB. SAGOM. APERTURA 1 AL11490 8330X
CAMMA MOB. SAGOM. CHIUSURA 1 AL11500 8299X
GRANO M5 x 6 UNI 5927 ZINC. 2 AV1136Z —
SERIE 4 FILI+GUAINA PER FINEC. 1 AF01740 —
SPINA ELASTICA #5x24 UNI 6874 1 AM1302B —
VITE 92.9x16 ST AUTOF. 6954 ZINC.| 6 AV14247 e
CAVO ELETTRICO 0.6mt AF01320 —
DENOMINAZIONE CODICE DIS. N.
DISEGNATO _| CONTROLLATO  p|RITT] RISERVATI| NOTE
31/10/2006 | 31/10/2006 | A TERMINI DI <[ M| N |
SPEZZANO D. LEGGE REVISIONI

IDONEO PER LA PRODUZIONE

COMPLESSIVO

AUTOBOX 3000

CONTINENTAL

GIBIDI e

ESPLOSO 230V

POGGIO RUSCO SCALA

MANTOVA

DIS.N. | REV.

83460

FIRMA

DATA




